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QUESTION 1
A user issues a query on the sales table and receives the following error: ERROR at line 1:

ORA-01565: error in identifying file \\/uOl/app/oracle/oradata/ORCL/temp01.dbf\\' ORA-27037: unable to obtain file
status

Which two actions would you take to recover the temporary tablespace? (Choose two.)
A. Drop the tenp01.dbf file, and then re-create the temp file.
B. Add a new temp file to the temporary tablespace and drop the temp01.dbf file.

C. Shut down the database instance, start up the database instance in mount state, create a new temporary tablespace,
and then open the database.

D. Take the temporary tablespace offline, recover the missing temp file, and then bring the temporary tablespace
online.

E. Create a new temporary tablespace and assign it as the default to the user.

Correct Answer: BE

QUESTION 2

You have set the value of the NLS_TIMESTAMP_TZ_FORMAT parameter to YYYY-MM-DD. The default format of
which two data types would be affected by this setting? (Choose two.)

A. DATE

B. TIMESTAMP

C. INTERVAL YEAR TO MONTH

D. INTERVAL DAY TO SECOND

E. TIMESTAMP WITH LOCAL TIME ZONE

Correct Answer: BE

QUESTION 3

Which two are benefits of unified auditing in full mode? (Choose two.)

A. The audit trail is in a single format.

B. All audit data is written to both the traditional locations and to the unified location.
C. The audit trail is read-only.

D. Pre 12c audit data is written to the traditional locations and new 12c¢ audit data is written to the unified location.
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E. The audit trail uses less space.

Correct Answer: AC

QUESTION 4

Which two statements are true about roles in multitenant container databases (CDBs)? (Choose two.)

A. Local roles can be granted to local and common users.

B. A common role can be granted only to a common user.

C. A common user can create a local role by default in any pluggable database (PDB) that is plugged in to a CDB.
D. A common role can be granted only system privileges.

E. The root container can have both local and common roles.

F. A local role can be assigned to a common role in a PDB.

Correct Answer: AF

QUESTION 5

View the SPFILE parameter settings in the Exhibit.
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You issue this command and get errors:

SQL> startup ORA-00824:cannot set SGA_TARGET or MEMORY_TARGET due to existing internal settings, see alert
log for more information

Why did the instance fail to start?

A. because pga_aggregate_target is not set

B. because statistics_level is set to basic

C. because memory_target and memory_max_target cannot be equal
D. because sga_target and memory_target are both set

Correct Answer: B
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